Week2 Quiz 2

A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

3:1

3:10

720

1. What is the missing number? 11. 72+8=
0 50 [ ] 150 200 250
3:2 3:10
2. What is the 3 worth in this number? 12. 12x8=
513
3:3 3:11
3. Write this number in words. 13. 34x4 =

4. Estimate the labelled number?
| T |
0 4\ 50 100

3:4

14. | buy 6 packs of balloons. | have 30
balloons. How many are in each pack?

5. Write a number that is smaller than
648 using the same three digits.

3:5

16. What fraction @ @@"@ @
is circled? S @

3:13

3:6

6. 392 +10= 16. What fraction @
@ OO
is shaded? @ oo
3:7 1 3:15
7. 528 - 64 = 17. What is 3 of 18?

3:8

3:16

Quick Quiz

You have 20 minutes to answer
as many questions as you can.
No printer? Rewrite out the
questions in your work book.

Set your timer and see how
many you can answer.

Answers are on the next page,
mark and edit using a different
coloured pen!

8. Circle the best estimate to 79 + 101 18. This shape is in tenths.
170 180 190 200 Shade in %
3:9 3:17
9. Use 18 + 34 = 52 to help solve: 19. Addthe 3 L3
520-180=[ | fractions. 9 9
3:9 3:18
10. What is the missing number? 20. Write the 1 1 1 1
148 - |:| =89 smallest fraction. 3 6 7 2
Total (A) Total (B)




ANSWers:

A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

3:1 3:10
1. What is the missing number? 11. 72+8=
0 50 [ ] 150 200 250 100 9
3:2 3:10
2. What is the 3 worth in this number? . 12. 12x8=
513 3 units 96
3:3 3:11
3. Write this number in words. Seven 13. 34x4 =
720 hundred and 136
twenty
3:4 3:12
4. Estimate the labelled number? 14. | buy 6 packs of balloons. | have 30
(') N 5'0 1(')0 35-45 | palloons. How many are in each pack? 5
35 H 3:13
5. Write a number that is smaller than | 486 or 16. What fraction @ @@”@ @ 1
648 using the same three digits. agg | s circled? SO0 10
6 392 + 10 = 3:6 16. What fraction @ o> o o | 3#
' 402 | is shaded? R OO | Aol
OO o (123
3:7 1 3:15
7. 528 -64 = 17. What is 37 of 18?
464 6
8. Circle the best estimate to 79 + 101 | 3% 18. This shape is in tenths. 3:16
170 (T80y 190 200 180 | Shadein 2. . 4
" 3:9 &) 3:17
9. Use 18 + 34 = 52 to help solve: f19' ﬁdd A - 8
ractions. 5 vt —
520-180=[ | 340 9" 9 9
3:9 H 3:18
10. What is the missing number? 20. \Illvr'tithet_ 1 1 1 1 1
148 - I:I -89 59 smallest fraction. = &= - 5 >
Total (A) Total (B)




